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a. Show that the number of mosquitoes is increasing at time t=6.
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b. At time t=8, is the number of mosquitoes increasing at an increasing rate, or is the number
of mosquitoes increasing at a decreasing rate? Give a reason for your answer.
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NO CALC: People are entering a building at a rate modeled by f (t) people per hour and exiting the
building at a rate modeled by g(t) people per hour, where t is measured in hours. The functions f
and g are nonnegative and differentiable for all times t. Write an inequality that indicates that the

rate of change of the number of people in the building is increasing at time t?
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HW: Watch the Three videos on Related Rates and take notes. SUPER IMPORTANT!
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